EARAZROREIERT — 2 N—XBISY —F 20135FE6A25H (X) 5EIAFHIH

mF‘EJ/":U T vUAE C2E€NA 53R —MK \ (%] 2 \ (Ewm  — | 4 () 16000 &
[x&<£] 1 % :1,000,000 @ ~ 23 :300,000 M ~ 337 :180,000 @ ~ 4 3 :120,000 M ~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1l7lgl 7y 7Ur2 H 6 %Jslal% 1:(4_3).1 9-10-7-5 |39.6| — | 7 (4_620) %Jﬂ;i? (k)
R:2Av—bhR—o B:Fy¥—FKRSA2b X FE—
H o4 | REEE 1:43.2 3-3-2-2 |40.6| — 3 519 | HHAR—K (KH#H)
2|8|11| Z= v h 56.0 3/4) L1y | PEH—
RZAYYLTHETF— BivASayN—Y e 15
A+ . - _ BARFE (/\#h)
3111177 bxEY- it 4 £ (11413/25> 1-1-1-1 | 40.9 2 (4317) faans
R:d—WKTPYa— B:TFARILIER =¥ Ty — L
A Ho4 | BIBEXS 1:43.7 4-4-4-4 | 40.6 | — 4 44 | EERRS (K3
4 4 FTINT— 56.0 (1 1/4) -3 | (B 77> K5
X THANAN BixvyFTy 7 75> NG
s= oo o4 | BT 1:44.2 9-9-11-11 | 40.3| — 6 | 473 |1ESRISHD (k)
5|8|10] F7I =A% 6.0 21/2) Lo |HERX
L:7RvA4VY Ry B:o—-7>vYzlUr Eibitse]
S =i REEF— 144, —5-5- . - FHEBE (KH)
N BEEE w8 I Bl L I I B0
L:yrh-—r B:T)reO0-v> KEAHS
S5, # 5 | KHEEZ 1:44.6 7-7-10-10 | 40.9 | — 0 473 | BEEH (KH)
7155|7777V 7 o (1/2) 1 (-4) &) MTr—n
Z:aY—F~K #/:YyaxeEr b INTr—L
- HRY : ~11-9- — HERE (#F)
3 7|AvavA->> "4 EE (11.414/.29) 1-11-9-8 | 41.2 9 ({721) S OL
R:iZa—a1>J7> K B:O—-3>33 Velibue ]
s\ o= 4 IRFFES 144, 20— . - EER (KH)
o NPT B4 S (17:;179) 2-2-2-2 | 42.3 1 ;1_932) desiol
L:€r/07Ooq4 B:TLAr RS
NN EIHEER : —8-6- = eiEEE (KH*
10 6| XI>T>ULRb o 5.0 (17}‘};3) Fo66 a8 ° (5_011) =HER% )
R:Gulch B:NHF—IL HET77— L
\ N ATHER 145, —6-8- . — HEFEE (KH)
1lzlolv7u>y 4 5 SSIOL 1745!:? 6-6-8-8 | 41.5 11 (4_314) %E%f(
LT RIAYAV—> B ALY aA FHREHS
@ 1 — S —EBlIEf
1a—7— |1,3,11,4,2,9,5,6,(8,10),7
20—F— 1,3,11,4,2,9,5,6,10,8,7
Jol=5r= 1,(3,11),4,2,6,8,9,7,5,10
43—F— 1,(3,11),4,8,6,2,(7,9),5,10
[ N3
B OB 8 2,330 74K 8-11 1,810 % E 7-8 3,990 3EHE 1-8-11 7,710
8 B 8 420M 1-8 1,330H P B 7-8 9,850 K31 8-11-1 68,710
1 170 1-11 490 B E 8-11 5,210M
1 1904 B 8-11 12,790M

ABICOVWTRDTEEERROODE. TR LIV,




